;> restart
> f==x-2—-5x

] f=x—5x 1)
> plot( f,x=-3.3)
20
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| ] ] ] ] |
-3 -2 -1 0] 1 2 3
1 X
_5—
(> [ =3
| L:=3 Q?)
1Y .
> a, = (I)-mt(f,xZ—L..L)
a, =6 A3
a
> ci= 70
] c:=3 )
> q = subs(sin(n-Pi) ~0, cos(n-Pi) = (~1)--n, (%)-int(f-cos( L ),xZ—L..L))
_ 36 (-1)"
a,= " )

nTm




> b, = subs(sin(nPi) =0, cos(n-Pi) = (-1)--n, (%)-int(f-sin( ”'lzi'x ),x=—L..L))

p =01 6)
ntm

> STFf:=c +Sum(an-cos( n'il'x ) +bn-sin( n'II’er ), n=1 ..inﬁnity)

% 36(—1)ncos(%nnx) 30(—1)"sin(%nnx)
STFf=3+ > 2 + 0
n=1 P nm

n-Pi-x . ( n-Pi-x
_> STF 5000 = c-l-sum(an'cos( ) —I—bn-sm( I ),n=1..10000) :

L
> plot([f+ 1, STF, 400}, x=-2.9..2.9)

(> plot( [ f: STF 00, x =-0.0005 .0.0005)
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0.001
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-0.0004 -0.0002 0 0.0002 0.0004
X
-0.001 4
-0.002 H
:> restart
> f=-exp(2-x)
| fi=e @®)
> L:=1
i L=1 9
> ay = (%) ‘int( f,x=-L..L)
ay:= —% e’ + % e’ (10)
4
> c:= 7
c:——%e_2+ie2 1)

4
. . . 1 . n-Pi-x
> a, = SubS(SIH(n'Pl) =0, cos(n-Pi)=(-1)--n, (I)-mt(f-cos( ),xZ—L..L))
2

an =

-2 n
-2e¢ " (-1) —21- 12)




STF:Z—%e

> STF :=c+ Sum| a

7~ N\
N

-2
e nm(

-1)"—¢

2

> b, = subs(sin(n-Pi) =0, cos(n-Pi)=(-1)--n, (%)-int(f-sin(
nm(-1)"

-2

4+n271',

) s

(-1)"+2¢€ (-1)") cos(n mx)

2

n-Pi-x

n-Pi-x

), n=1 ..inﬁnily)

"—e nm(-1)") sin(nmx)

2
4+n I

> STF |00 == ¢ +sum(an~cos(
[ > plot( [ f+ 1. STF g4 x

=-0.99 ..0.99)

8_

1°x

n-Pi-x . ( nP
I ) +bn-sm( I

Jox=-r.L]]

),nZI..lOOO) :

[ > plot( [ £ STF) g9 X

=-0.39..-0.41 )

13)

(14)



-0.458
-0.456
-—0.454
10.452
-—0.450
-0.448
-0.446
-0.444
-—0.442

—0.440

0410  -0405  -0.400  -0395  -0.390
X

|_> restart
>

F =3 w(t43) = (o) ufbrs)+ (bor)ulled) 4
F O wlb) + (-2)u(t- )~ (L) bl b-s)- Gult-3)

_> g =-3-Heaviside(z +3) — (¢ +3) -Heaviside(z +3) + (¢ +2) -Heaviside(¢ +2) + 8
-Heaviside(?) - (t —2) -Heaviside(t —2) + (¢ — 3) -Heaviside(z — 3) — 3-Heaviside(#
-3) :plot(g, t=-4.4)




I

> L:=4;a,:= (L)-int( t=-L.L);c:= 2o
> %0 L g7 . s 2

15)

> a, = (%).int(g-cos( n'El't ), t=—L..L)

a =0 (16)

_ (LY. [ noPict _
> b, = (L) mt(g sm( I ),t L..L)

12cos(inn) 4(—sin(inn)+icos(inn)nn)
B 4 4 4 4
bn:—— + 7

nm T

4 (—sin(inn) +Lcos(inn) nn)
2 2 2
— > +
. nm nm

a7




4(sin(inn)—icos(inn)nn) 4(sin(inn)—lcos
2 2 2 4 4

+ —

n-Pi-t

> STF = Sum(bn~sin( ), n=1 ..inﬁnily)

3 . (3 3 3
12003(4 nn) 4( 5111(4 nn)-i— 4 005(4 nn)nn)

STF == > + -
n=1 nTt n
) 1 1 1 1
4| -sin| —nm|+ —cos| —nm|nmw dcos| —nm
2 2 2 2 8
— 5 + +
. nm nm
[sin( 3 ) = 5 cos( 5 ) )
4 |sinf —nm|—=—cos| —nm|nm
2
+ > 2
nm
4(sin(inn)—icos(inn)nﬂ:)
_ 4 4 14 T L
> S 4n
nm

> STFio = sum(bn.sin(%),nﬂ..looo) :
> plot([g +0.1, STF 5} t=-L..L)

(18)
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